Tutorial 6 Answer

(1)

a) For IEEE 802.3, when a new packet arrives it will transmit the frame at the first opportunity. In a lightly loaded network this transmission will usually succeed and the transmission will complete quickly, thus leading to low latency. IEEE 802.11, however, it will always wait for some time before attempting even the first transmission so it produces higher latency. So 802.11 have relatively high latency under light loading. 
b) When IEEE 802.3 transmits the first time in a heavily loaded network, a collision is very likely since other stations are likely to also have received new packets and they will attempt to transmit as soon as possible. The colliding stations go into back-off and attempt to transmit later when a collision is again possible. The collisions and subsequent back-off times lead to higher latency. Since IEEE 802.11 uses collision avoidance, it is highly unlikely to collide and the overall latency will be less sensitive to network load and is likely to be lower than latency in IEEE 802.3.
(2)

a) Hub. A router would only send to the destination, a switch would learn after the first packet and only send to the destination
b) Hub or switch. For router, it would isolate the broadcast domains as ff:ff:ff:ff:ff:ff is the MAC broadcast address.
c) Switch or router. It cannot be a hub as it will send the packet on all interfaces.
d) Router. Because the MAC address is different from H9 which means it need the help from the router to forward the packet. Or we may say that H2 and H9 are on different network.
e) Hub or switch. Otherwise the MAC address would have to be the address of the router.
